
Numbers   and   Operations  
Grade   4  

 
Answers:  
 
1.   
 
 
 
 
 
 
 
 
2.   3,14,114  
 
3.   (a)   False (b)   True (c)   False  
 
4.   (b)   
 
5.   
 
 
 
 
 
 
6.   (a)   48 (b)   38 (c)   177 (d)   126  
 
7.   1,156   km  
 
8.   399   cars  
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Numbers   and   Operations  
Grade   4  

 
 
9.   

      4   4   4   6  

      x     1   4  

   1   7   7   8   4  

+   4   4   4   6   0  

  6   2   2   4   4  
 
 
10.   140   bouquets  
 
11.   28,896   words  
Solution:   Total   number   of   words   =   1,032   x   56   =   57,792  
Words   read   =   57,792   ÷   2   =   28,896  
Words   remaining   =   57,792   -   28,896   =   28,896  
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